L L EELEEEEE Grund&cbulk@nlg
Addition 5 '

UBUNG 1: WAS FALLT DIR AUF2

90 000 + 60 000 = 220 000 + 90 000 =
290 000 + 60 000 = 320 000 +90 000 =
390 000 + 60 000 = 420 000 + 90 000 =
490 000 + 60 000 = 520 000 + 90 000 =

UBUNG 2: RECHNE

260 000 + 470 000 = 330 000 + 610 000 =
390 000 + 610 000 = 550 000 + 290 000 =
430 000 + 460 000 = 210 000 + 620 000 =
520 000 + 290 000 = 390 000 + 140 000 =
330 000 + 510 000 = 650 000 + 360 000 =

UBUNG 3: GRORER, KLEINER ODER GLEICH?

Setze >, < oder = ein!

330000+ 6 600@ 370000 +210000 590000 + %0 OOOQ #30 000 + 50 000
730 000 + 330 OOOQ 120 000 + 60 000 620 000 + 300 OOOQ 420 000 + 330 000
320 000 + 480 OOOQ 520 000 + 280 000 280 000 + 210 0000260 000 + 290 000
560 000 + 10 000 O 220 000 + 560 000 440 000 + 360 OOOQ‘rZO 000 + 380 000
420 000 + 570 OOOQ 920 000 + 48 000 250 000 + 50 OOOO 430 000 + 30 000

290 000 + 230 OOOQ 240 000 + 460 000  #7#0 000 + 330 000 0’180 000 + 40 000
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